na= lmportDirectory ="C: \\Users\\drive\\ DNV\\ wor kspace\\ Li neMast er Oppgave\\";
timeVec =
Transpose[l nport [StringJoin[lnportDirectory, "Signal.xlsx"], "Data"1[[11]1]1[[211;
forceVec = Transpose[
I nport [StringJoin[lnmportDirectory, "Signal.xlsx"], "Data"][[1]111[[2]1];

n41= Li st Li nePl ot [Transpose[{tineVec, forceVec}]]

2.25x10° |
2.20%x 10°
Out[4]=

2.15% 10°

2.10x 10°

10 20 30 40 50 60
= Aw = Pi %« RM2;
Vol = Awx L;

In[7]:= T
\
a
Ki

+ (Anpl i tude - Anpl i tude » Cos[Onega =t 1)
D[r, t]

Dlv, t]

nematics = {-a, -v*0, (-v) xAbs[v]=*1, 1};

ouf7)= Arrpl i t ude - Anpl i t ude Cos [Onegat ]

ougl= Anrpl i t ude Onega Si n[Oregat |
oute)= Ampl i t ude Omega? Cos [Oregart |

1= Anplitude = 6. 0;
Orega =2+ Pi /22.6;

rho = 1025;
g =9.81;

R = 18. 75;
L = 200;

7= restVec = (rhoxg*Vol -rhoxg+Awxr /. t » #l) &/eti meVec;

npei= force = forceVec -rest Vec;
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n19)= Li st Li nePl ot [Transpose[{ti meVec, force}]]

5x 107 -

4x10"

3x 107t

ouf[19]=  2x 107 |-

1x 107

Al . |
vy

—1x107 -

nzop= f = Kinematics /. t -> #1 &;

nr1= coefs = Least Squares[f /etinmeVec[[1;; -11], force[[l;; -1]11]
ouzi= {-2.58901 x 107, 0., 1.25312x10° 1.00059 x 10°}

nz= forcelLS = coefs. Ki nemati cs;

3= Show[Pl ot [forcelLS, {t, 0, 60}],
Li st Li nePl ot [Transpose[{tinmeVec[[l;; -11], force[[l;; -111}11]

1x107 |

5x10°

Out[23]=

-5x10°

—1><107:
ne4i= {A33, Bl, B2, Fm} = coefs
ouza- {-2.58901 x 107, 0., 1.25312x10° 1.00059 x 10°}
nesi= A33 / (rho = Vol )
out2s)= -0. 114348



